4 % Name : £ 3% Student ID # :
Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation
an = (=5)an_1 + (—4)a,_o for n > 2,

ag = 3,(11 = 15.

Write your solution in the form of

n n
Ap =C1 171 +C2-Ty.

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

2? = (=5)x + (—4)

and get

r = —4,7”2: -1\

Then solve the system of linear equations
ag=c1+co=3

ap = (—4)01 + (—1)02 =15
to get

01:—6702:9.

Check code = (¢1 + ¢o + 711 + 12) mod 10 = 8.

Indicating your answer by underlining it or circling it. check code
Compute the check code and fill it into the box on the right. 8




4 % Name : £ 3% Student ID # :
Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation
an, = (—2)an_1 + (8)a,_s for n > 2,
ag — —17, a; — 20.

Write your solution in the form of

n n
Ap =C1 171 +C2- Ty,

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

% = (—2)x + (8)

and get

7“1:—4,7“2:2.

Then solve the system of linear equations
ap =c1 +c = —17

a1 = (—4)c1 + (2)er = 20
to get

01:—9,62:—8.

Check code = (¢1 + ¢o + 711 + 12) mod 10 = 1.

ReCRel 2 Indicating your answer by underlining it or circling it. check code

?I!I:E Compute the check code and fill it into the box on the right. 1




4 % Name : £ 3% Student ID # :
Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation
an = (2)an—1 + (15)a,_» for n > 2,

ag = 6, ay = —42.

Write your solution in the form of

n n
Ap =C1 171 +C2-Ty.

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

r? = (2)x + (15)

and get

7“1:5,7“2:—3.

Then solve the system of linear equations
apg=c1+co=206

a; = (5)er + (—3)cp = —42
to get

01:—3702:9.

Check code = (¢1 + ¢o + 711 + 12) mod 10 = 8.

RecRel 3 Indicating your answer by underlining it or circling it. check code

| |
L "

n]*:[m Compute the check code and fill it into the box on the right. 8

=] 5




4 % Name : £ 3% Student ID # :

Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation

an, = (=1)an_1 + (12)a,_o for n > 2

ag — —4, ay = 9.

Write your solution in the form of

n n
Ap =1C1 771 +C2-Ty.

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

22 = (—1)z + (12)

and get

7“1:—4,7“2:3.

Then solve the system of linear equations
ag=c1+co=—4

a1 = (—4)c1 + (3)ea =9
to get

01:—3,62:—1.

Check code = (¢1 + ¢o + 711 + 12) mod 10 = 5.

check code

Indicating your answer by underlining it or circling it.
Compute the check code and fill it into the box on the right.

D




4 % Name : £ 3% Student ID # :
Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation
an, = (7)an_1 + (—10)a,_o for n > 2,

ag = 8,(11 = 10.

Write your solution in the form of

ap=c1-1] +Co-15.

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

v? = (7)x + (—10)

and get

7“1:2,7“2:5.

Then solve the system of linear equations
apg=-c1+co =38

a1 = (2)c; + (5)ce = 10
to get

61:10,02:—2.

Check code = (¢1 + ¢o + 11 + 12) mod 10 = 5.

RecRel 5 Indicating your answer by underlining it or circling it. check code
BIrEL1®] Compute the check code and fill it into the box on the right. 5

[P




4 % Name : £ 3% Student ID # :
Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation
a, = (3)ap—1 + (4)a,_o for n > 2,

ap = 1,a; = 44.

Write your solution in the form of

ap=1c1-1] +Co-15.

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

22 = (3)z + (4)

and get

7“1:4,7“2:—1.

Then solve the system of linear equations
apg=c1+co =1

ap = (4)61 + (—1)62 =44
to get

01:9,62:—8.

Check code = (¢1 + ¢o + 11 + 12) mod 10 = 4.

RecRel 6 Indicating your answer by underlining it or circling it. check code

— 1 B] Compute the check code and fill it into the box on the right.
1

r




4 % Name : £ 3% Student ID # :
Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation
an, = (—2)an_1 + (15)a,_o for n > 2
ag = —5, a) = 33.

Write your solution in the form of

n n
Ap =1C1 771 +C2-Ty.

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

2% = (—=2)x + (15)

and get

7“1:3,7“2:—5.

Then solve the system of linear equations
apg=c1+co=—5

a1 = (3)cy + (=5)ey = 33
to get

01:1,62:—6.

Check code = (¢1 + ¢o + 11 + 12) mod 10 = 3.

RecRel 7 Indicating your answer by underlining it or circling it. check code

m] = Compute the check code and fill it into the box on the right. 3

..'E

"




4 % Name : £ 3% Student ID # :

Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation

a, = (0)a,—1 + (9)a,—o for n > 2,

ag — —1,(11 = —15.

Write your solution in the form of

n n
Ap =1C1 71 +C2 Ty,

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

2% = (0)z + (9)

and get

7“1:3,7“2:—3.

Then solve the system of linear equations
apg=c1+co=—1

a1 = (3)c1 + (—3)cg = —15
to get

01:—3702:2.

Check code = (¢ + ¢o + 711 + 12) mod 10 = 9.

check code

Indicating your answer by underlining it or circling it.
Compute the check code and fill it into the box on the right.

9




4 % Name : £ 3% Student ID # :

Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation

a, = (1)ay,—1 + (2)a,—o for n > 2,

ayg = 15,&1 = 0.

Write your solution in the form of

n n
Ap =C1 171 +C2-Ty.

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

2% = (1)z + (2)

and get

7“1:2,7“2:—1.

Then solve the system of linear equations
apg =c1+co =15

a1 = (2)c1 + (=1)ea =0
to get

01:5702:10.

Check code = (¢1 + ¢o + 11 + 12) mod 10 = 6.

check code

Indicating your answer by underlining it or circling it.
Compute the check code and fill it into the box on the right.

O




RecRel 10

4 % Name : £ 3% Student ID # :

Quiz 3 MATH 203: Discrete Mathematics I

Solve the recurrence relation

an, = (Tan_1 + (—12)a,_o for n > 2,

apg = 0,@1 = —9.

Write your solution in the form of

n n
Ap =C1 171 +C2-Ty.

Check code = (¢1 + ¢2 + 11 4+ 19) mod 10

Solution.
Solve the characteristic polynomial

2% = (7w + (—12)

and get

7“1:3,7“2:4.

Then solve the system of linear equations
apg=c1+co=0

ap = (3)61 + (4)02 =-9
to get

01:9,62:—9.

Check code = (¢1 + ¢o + 711 4+ 12) mod 10 = 7.

K

check code

Indicating your answer by underlining it or circling it.
B] Compute the check code and fill it into the box on the right.

[




